public int winner (char p1, char p2)

This method {
. //returns 1 if player 1 wins, 2 if player 2 wins and 0 if no one wins
dEterm|nes the //p1 and p2 hildy'r','p',‘s' to repfegint player 1 and 2's choices
winner for a rock, 1 if(pl=="r'&& p2=="r')
_ 2 return O;
paper, SCISSOTrS game- 3 else if (pl=="r' && p2 =="s')
| 4 rcturn 1;
E / 5 elseif(pl=="r'&&p2=="p")
6 return 2;
7 elseif(pl=="p'&& p2 =="r") AISO. see if you
8 return 1,
d he i 9 elseif(pl=="p'&& p2=="¢') can reca"
Reduce the lines 10 return 2; what ORATE
of code_\. | can ' E'f:tgr(:i; P &&p2 =P stands for.
reduce it to 10 13 clsc if (p1=="s' && p2 ==r')
“nes_ 14 return 2;
15 elseif (pl=="s'&& p2 =="s")
| 16 return O;
7/ 17 elseif (pl=="s'&& p2 =="p')

18 return 1;
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Yesterday, we used
methods to cut out
repeated code. What

three ORATE principles
did we apply?
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Today, we are going
to use methods to

help with the other
two pieces of ORATE.

Or f}CtVL'iUﬂ)CIW\
Ab ﬁm\ U\“:‘e \



What type is each kind A: No return, C: No return,

No Parameters Parameters
B: Return, D: Return,

No Parameters Parameters

Returns true if the word matches the answer

3.
public void rockPaperScissorsWin(char pl, char p2)C

Toasts either player 1 or 2, based on who wins ———— ——

4,
public void win %\

Toasts either X or O, based on who wins




parameterType parameter = value;
returnType variable = methodName (parameter);

Call each method.

1. mﬁﬁ“‘\\lﬂ noy hy el e
public boolean win() 1p(ﬂd\ﬁ(ﬁ)

boalean and = win ( 3 I' }% NN
2

public boolean winRiddle (String word){
SHring Worg = npwh, 3&1’{7@(}5-{-05%1&3 C)e
3. boelggn ans "—'-w"iﬁﬁ‘ncto\\&(wm(ﬂ)}
public void rockPaperScissorsWin(char pl, char p2)
char pl=>¢" 1 char p2 = p’;
4 rod;{)mPu Scicsors it (?l R 25'
/

public void win()

whn ()




T PT PN ,
f. &~ Signatarg
Identify the method public @I.ﬂeﬂ Ew@ ) { j
name, return type, int num = (int) {Math random() *6) +1;
parameter type, -
parameter name, 1f (num==1)

method signature. d.setImageResource (R.drawable.one) ;
else i1f (num==27)
d.setImageResource (R.drawable. two) ;
else i1f (num==3)
d.setImageResource (R.drawable. three) ;

What sort :
of method else if (num==4)

is d.setImageResource (R.drawable. four) ;
roliDice? o Some else if (num==5)

Parameters Parameters d.setImageResource (R.drawable. five) ;

No Return L\"‘VJ el se
Type N
Z v d.gsetImageResource (R.drawable.six) ;

return num;

Return
Type



Call this

method in the public int rollDice (ImageView d) {
button's
onClick

parameterType parameter = value;
returnType variable = methodName (parameter);

int di=1; ZJ Garu/Vi s haw 10

int d2=6; o{/\ d’ for < %&Lm’kcﬂ O{IQE)

public void dl@E&llEk (View view) { Z

Imagevlew z;[age”ifle w) findViewById(R.1d. chc@

= ¢oll Dicg
Fdiz=d2 )

12
Toast.makeText (gethApplicationContext (), B yo"*‘\ Wﬁ.ﬂ ] , Toast.LENGTH SHORT) .show();
} v



Let’s look at this

method:

3. First, code the win methods. Then, using the method signatures, call the methods.
(a) Method:

public boolean win(){
//returns true if 5 points (global variable), false otherwise

if (points »>= 5 )

return :\'15 L £ K

else .
return _-—5[5_3 y
}
Call:
bool{gn AnS = Mlﬂ( ]13
’E(WI (3) i'F( Qﬂ& == tr’UE)
7 Toast.makeText (getApplicationContext(), "Win!",

Toast.LENGTH_SHORT).show();
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public int winner (char pl, char p2)

{

//returns 1 if player 1 wins, 2 if player 2 wins and 0 if no one wins

//pl and p2 hold 'r','p",'s' to represen

if (p1 =="r'&& p2=="r") -~
return O;

elseif (pl=="r" && p2=="s')
return 1;

—_ gl —_— 1Al

return 2,

else if (pl == 'p' && p2 =="r")
return 1;

E'lS‘E—-i-f-(.p1 —— rpl S [ |
returiv2;—

elseif{pl=="p ==

return-0;
elseif (pl=="'s' && p2 =="p")

V&

t player 1 and 2's choices

F

.
T E:’O I

return 1; — &lgL

re Puwrin Z ;

So how do we
reduce the
lines of code

on this

method?



4. This method takes two chars, one for each player and using Rock, Paper, Scissors rules, displays a message
for the winner. Fill in the blanks to make the method functional.

public void rockPaperScissorsWin(char pl, char p2) ({ Not so Fast,
int winner = 2; !
if (pl == 'r' && p2 == E; ') Wait
winner = 1; Whar?
else if (pl == 's' && p2 == ")
winner = 1; -
else if (pl == 'p' && p2 == ' | ")

winner = 1;

else if (pl == iﬂ@
winner Q7

if (winner == I ) |

Toast .makeText (getApplicationContext (), "Player 1 Wins", Toast.LENGTH SHORT) .show();

} else if (winner == 2) |{
Toast.makeText (getApplicationContext (), " E 2,, ‘ er Z Ww\", Toast.LENGTH SHORT) .show () ;
} else |

Toast.makeText (getApplicationContext (), "Tie", Toast.LENGTH SHORT) .show () ;
}
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public woid wln{] {

1
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int winner = 0;

if (board|[0] [0] == board[0][l] && beoard[0] [0] == board([(0] [2] && board([0] [0] != Q)
winn&r =—board[0] [0S . T

aelse if {baard[lligl == baardL;;il] && baard["][t:h == board[l)])[2] && board[1l][0] != 0)

winner = board[1][0];

else if (board[2][0] == board[2][l] && ]:bard.'[l] (O] == board[2])[2] && board(/ 1[0 ] 1= 0)
»

winner = board[2][0];
else if (board|[0] [0] == board[1l][0] && bnard1(>][C3] == board (2] [0] && haard[gljl
winner = board[0][0]; *

Oy 1= 0

else if (board[0][l1] == board[l][l] && board[ ][ ] == board|[2][l] && board[ ][ ] != 0)
= [ 1 [ |
else if (board[0)] [2] == board[l][2] && board[ ][ ] == board[2])[2] && board[ ][ ] != 0)
winner = board([0][2];
___ (board[0] [0] == board[1]([1l] && board[1][l] == board[ ][ ] && board[1][1l] != 0)
winner = board(1][1l];
else if (board[0] [2] == board[1][l] && board[l][1l] == board[ ][ ] && board[0][2Z] != 0)

winner = board[0][2];

8
[0][2]

board[1][0] '= 0 && board[1][1] '= 0 && board[1][2] '= 0 && [1][0] [1][1]

[1][2]

E‘l" ifk'ﬂ;ﬁﬂ';tr:ﬁ_] (3] !'=0 && board(® ][ | ] != 0 && board[(§ I ] != 0 &s& [OT[O] [UT[H

board[? ][] !'= 0 && board[7 ][] ] '= 0 && board[~ ]1[Z2.] != 0)
winner = 3-,:2_ o &L < < [2][01 [2][1]
if (winner == 1) {
Toast.makeText (getApplicationContext(), " )( \jdtﬁhﬁh ", Toast.LENGTH SHORT) .show();
| else if (winner == 2) { J
Toast. Vb\i\u \lg-ﬂhpplicatianf:antext{l. " Q Q;QS ", Toast.LENGTH SHORT) .show();

} else if ( ., LA, ﬂ...p;" == 3) { K
Toast. makeTExt(getﬂppllcatlanCﬂntext[} "Cat's game", Toast. _S v D
} - —

) .show() ;

[2][2]



